## SOME IDENTITIES OF PARTIALLY DEGENERATE BELL POLYNOMIALS ARISING FROM DIFFERENTIAL EQUATIONS

#### GWAN-WOO JANG AND TAEKYUN KIM

ABSTRACT. Recently, several authors have studied partially degenerate Bell numbers and polynomials. In this paper, we find the inversion formula of differential equation arising from the generating function of partially degenerate Bell polynomials already shown in [6] and we derive some new interesting identities and properties from this differential equation.

2010 Mathematics Subject Classification. 11T23, 20G40, 94B05.

KEYWORDS AND PHRASES. Bell polynomials, Partially degenerate Bell polynomials

### 1. Introduction

The Bell polynomials are defined by the following generating function:

$$e^{x(e^t-1)} = \sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!}, \quad (see [4, 5, 7]).$$
 (1.1)

In [8], introduced the partially degenerate Bell polynomials, which are given by the following generating function:

$$e^{x\left((1+\lambda t)^{\frac{1}{\lambda}}-1\right)} = \sum_{n=0}^{\infty} bel_{n,\lambda}(x)\frac{t^n}{n!}.$$
(1.2)

When  $\lambda \to 0$ , the partially degenerate Bell polynomials reduces to the Bell polynomials.

$$\lim_{\lambda \to 0} bel_{n,\lambda}(x) = Bel_n(x).$$

That is  $(1.2) \to (1.1)$ . It is well known that the generating function of  $S_1(n,l)$  and  $S_2(n,l)$  are given by

$$\frac{1}{l!} (\log(1+t))^l = \sum_{n=l}^{\infty} S_1(n,l) \frac{t^n}{n!},$$
(1.3)

and

$$\frac{1}{l!}(e^t - 1)^l = \sum_{n=l}^{\infty} S_2(n, l) \frac{t^n}{n!}, \quad (see [2, 3]). \tag{1.4}$$

Now, we observe that

$$e^{x\left((1+\lambda t)^{\frac{1}{\lambda}}-1\right)} = e^{x\left(e^{\frac{1}{\lambda}\log(1+\lambda t)}-1\right)}$$

$$= \sum_{m=0}^{\infty} Bel_m(x)\frac{1}{m!}\left(\frac{1}{\lambda}\log(1+\lambda t)\right)^m$$

$$= \sum_{m=0}^{\infty} Bel_m(x)\lambda^{-m}\sum_{n=m}^{\infty} \lambda^n S_1(n,m)\frac{t^n}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Bel_m(x)S_1(n,m)\lambda^{n-m}\right)\frac{t^n}{n!}.$$
(1.5)

From (1.2) and (1.5), we get

$$bel_{n,\lambda}(x) = \sum_{m=0}^{n} Bel_m(x)S_1(n,m)\lambda^{n-m}.$$
 (1.6)

Also, by replacing t by  $\frac{1}{\lambda}(e^{\lambda t}-1)$  in (1.2), we get

$$e^{x(e^{t}-1)} = \sum_{m=0}^{\infty} bel_{m,\lambda}(x) \frac{1}{m!} \left(\frac{1}{\lambda} e^{\lambda t} - 1\right)^{m}$$

$$= \sum_{m=0}^{\infty} bel_{m,\lambda}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_{2}(n,m) \lambda^{n} \frac{t^{n}}{n!}$$

$$= \sum_{n=0}^{\infty} \left(\sum_{m=0}^{n} bel_{m,\lambda}(x) \lambda^{n-m} S_{2}(n,m)\right) \frac{t^{n}}{n!}.$$

$$(1.7)$$

From (1.1) and (1.7), we have

$$Bel_n(x) = \sum_{m=0}^{n} bel_{m,\lambda}(x)\lambda^{n-m}S_2(n,m).$$
(1.8)

In [6], introduced the differential equations associated with partially degenerate Bell polynomials (Touchard polynomials) is given by

$$F^{(N)} = \left(\sum_{i=1}^{N} b_i(N,\lambda) x^i (1+\lambda t)^{\frac{i}{\lambda}-N}\right) F,\tag{1.9}$$

where 
$$F = F(t, x; \lambda) = e^{x\left((1+\lambda t)^{\frac{1}{\lambda}}-1\right)}$$
 and  $F^{(N)} = \left(\frac{\partial}{\partial t}\right)^N F(t, x; \lambda)$ .

Recently, several authors have studied partially degenerate Bell numbers and polynomials. In this paper, we find the inversion formula of (1.9) and we derive some new interesting identities and properties from this differential equation.

# 2. Some identities of partially degenerate Bell polynomials arising from differential equation

Let

$$F = F(t, x; \lambda) = e^{x\left((1+\lambda t)^{\frac{1}{\lambda}} - 1\right)}.$$
 (2.1)

Then by taking the derivative with respect to t of (2.1), we get

$$F^{(1)} = \frac{\partial}{\partial t} F(t, x; \lambda) = e^{x\left((1+\lambda t)^{\frac{1}{\lambda}}-1\right)} x(1+\lambda t)^{\frac{1}{\lambda}-1}$$
$$= x(1+\lambda t)^{\frac{1}{\lambda}-1} F.$$
 (2.2)

From (2.2), we have

$$xF = (1 + \lambda t)^{1 - \frac{1}{\lambda}} F^{(1)}. (2.3)$$

Let us take the derivative with respect to t of (2.3), we get

$$xF^{(1)} = (\lambda - 1)(1 + \lambda t)^{-\frac{1}{\lambda}}F^{(1)} + (1 + \lambda t)^{1 - \frac{1}{\lambda}}F^{(2)}.$$
 (2.4)

Multiplying by  $(1 + \lambda t)^{1 - \frac{1}{\lambda}}$  both sides of (2.4) and by (2.3), we get

$$x^{2}F = (\lambda - 1)(1 + \lambda t)^{1 - \frac{2}{\lambda}}F^{(1)} + (1 + \lambda t)^{2 - \frac{2}{\lambda}}F^{(2)}.$$
 (2.5)

From (2.5), we have

$$x^{2}F^{(1)} = (\lambda - 1)(\lambda - 2)(1 + \lambda t)^{-\frac{2}{\lambda}}F^{(1)} + (\lambda - 1)(1 + \lambda t)^{1 - \frac{2}{\lambda}}F^{(2)}$$

$$+ (2\lambda - 2)(1 + \lambda t)^{1 - \frac{2}{\lambda}}F^{(2)} + (1 + \lambda t)^{2 - \frac{2}{\lambda}}F^{(3)}$$

$$= (\lambda - 1)(\lambda - 2)(1 + \lambda t)^{-\frac{2}{\lambda}}F^{(1)} + (3\lambda - 3)(1 + \lambda t)^{1 - \frac{2}{\lambda}}F^{(2)}$$

$$+ (1 + \lambda t)^{2 - \frac{2}{\lambda}}F^{(3)}.$$

$$(2.6)$$

Multiplying by  $(1 + \lambda t)^{1-\frac{1}{\lambda}}$  both sides of (2.6) and by (2.3), we have

$$x^{3}F = (\lambda - 1)(\lambda - 2)(1 + \lambda t)^{1 - \frac{3}{\lambda}}F^{(1)} + (3\lambda - 3)(1 + \lambda t)^{2 - \frac{3}{\lambda}}F^{(2)} + (1 + \lambda t)^{3 - \frac{3}{\lambda}}F^{(3)}.$$
(2.7)

Continuing this process, we get

$$x^{N}F = \sum_{k=1}^{N} a_{k}(N)(1+\lambda t)^{k-\frac{N}{\lambda}}F^{(k)},$$
(2.8)

where  $N \in \mathbb{N}$ . To determine the coefficients  $a_k(N)$  in (2.8), let us take the derivative with respect to t on both sides of (2.8), we get

$$x^{N} F^{(1)} = \sum_{k=1}^{N} (k\lambda - N) a_{k}(N) (1 + \lambda t)^{k - \frac{N}{\lambda} - 1} F^{(k)}$$

$$+ \sum_{k=1}^{N} a_{k}(N) (1 + \lambda t)^{k - \frac{N}{\lambda}} F^{(k+1)}.$$
(2.9)

Multiplying by  $(1 + \lambda t)^{1-\frac{1}{\lambda}}$  both sides of (2.9) and by (2.3), we get

$$x^{N+1}F = \sum_{k=1}^{N} (k\lambda - N)a_{k}(N)(1 + \lambda t)^{k - \frac{N+1}{\lambda}} F^{(k)}$$

$$+ \sum_{k=1}^{N} a_{k}(N)(1 + \lambda t)^{k+1 - \frac{N+1}{\lambda}} F^{(k+1)}$$

$$= \sum_{k=1}^{N} (k\lambda - N)a_{k}(N)(1 + \lambda t)^{k - \frac{N+1}{\lambda}} F^{(k)}$$

$$+ \sum_{k=2}^{N+1} a_{k-1}(N)(1 + \lambda t)^{k - \frac{N+1}{\lambda}} F^{(k)}$$

$$= (\lambda - N)a_{1}(N)(1 + \lambda t)^{1 - \frac{N+1}{\lambda}} F^{(1)}$$

$$+ a_{N}(N)(1 + \lambda t)^{N+1 - \frac{N+1}{\lambda}} F^{(N+1)}$$

$$+ \sum_{k=2}^{N} ((k\lambda - N)a_{k}(N) + a_{k-1}(N))(1 + \lambda t)^{k - \frac{N+1}{\lambda}} F^{(k)}.$$
(2.10)

By replacing N by N+1 in (2.8), we get

$$x^{N+1}F = \sum_{k=1}^{N+1} a_k (N+1)(1+\lambda t)^{k-\frac{N+1}{\lambda}} F^{(k)}$$

$$= a_1 (N+1)(1+\lambda t)^{1-\frac{N+1}{\lambda}} F^{(1)}$$

$$+ a_{N+1} (N+1)(1+\lambda t)^{N+1-\frac{N+1}{\lambda}} F^{(N+1)}$$

$$+ \sum_{k=2}^{N} a_k (N+1)(1+\lambda t)^{k-\frac{N+1}{\lambda}} F^{(k)}.$$
(2.11)

Comparing the coefficients on the both sides of (2.10) and (2.11), we get

$$a_1(N+1) = (\lambda - N)a_1(N), \quad a_{N+1}(N+1) = a_N(N),$$
 (2.12)

and

$$a_k(N+1) = (k\lambda - N)a_k(N) + a_{k-1}(N), \tag{2.13}$$

where  $2 \le k \le N$ . From (2.3) and (2.8), we get

$$xF = \sum_{k=1}^{1} a_k(1)(1+\lambda t)^{k-\frac{1}{\lambda}}F^{(k)}$$

$$= a_1(1)(1+\lambda t)^{1-\frac{1}{\lambda}}F^{(1)}$$

$$= (1+\lambda t)^{1-\frac{1}{\lambda}}F^{(1)}.$$
(2.14)

Thus, by (2.14), we get

$$a_1(1) = 1. (2.15)$$

It is easily get

$$a_{N+1}(N+1) = a_N(N) = a_{N-1}(N-1) = \dots = a_1(1) = 1,$$
 (2.16)

and

$$a_1(N+1) = (\lambda - N)a_1(N) = (\lambda - N)(\lambda - N + 1)a_1(N-1) = \cdots$$
  
=  $(\lambda - N)(\lambda - N + 1)\cdots(\lambda - 1)a_1(1) = \langle \lambda - N \rangle_N,$  (2.17)

where  $\langle x \rangle_0 = 1$ ,  $\langle x \rangle_n = x(x+1)\cdots(x+(n-1))$ ,  $(n \ge 1)$ .

Therefore, we obtain the following theorem.

**Theorem 2.1.** For  $N \in \mathbb{N}$ , the following differential equations

$$x^{N}F = \sum_{k=1}^{N} a_{k}(N)(1+\lambda t)^{k-\frac{N}{\lambda}}F^{(k)},$$

have the solution  $F = F(t, x; \lambda) = e^{x((1+\lambda t)^{\frac{1}{\lambda}}-1)}$ , where

$$a_1(N) = <\lambda - N + 1>_{N-1},$$

$$a_k(N) = (k\lambda - N + 1)a_k(N - 1) + a_{k-1}(N - 1), \quad (2 \le k \le N),$$
  
$$a_N(N) = 1.$$

From right hand sides of (2.8), we get

$$\sum_{k=1}^{N} b_{k}(N)(1+\lambda t)^{k-\frac{N}{\lambda}} F^{(k)} = \sum_{k=1}^{N} a_{k}(N) \left( \sum_{l=0}^{\infty} (k-\frac{N}{\lambda})_{l} \lambda^{l} \frac{t^{l}}{l!} \right)$$

$$\times \left( \left( \frac{\partial}{\partial t} \right)^{k} \sum_{m=0}^{\infty} bel_{m,\lambda}(x) \frac{t^{m}}{m!} \right)$$

$$= \sum_{k=1}^{N} a_{k}(N) \left( \sum_{l=0}^{\infty} (k\lambda - N)_{l,\lambda} \frac{t^{l}}{l!} \right)$$

$$\times \left( \sum_{m=0}^{\infty} bel_{m+k,\lambda}(x) \frac{t^{m}}{m!} \right)$$

$$= \sum_{n=0}^{\infty} \left( \sum_{m=0}^{n} \sum_{k=1}^{N} \binom{n}{m} a_{k}(N) bel_{m+k,\lambda}(x) \right)$$

$$\times (k\lambda - N)_{n-m,\lambda} \frac{t^{n}}{n!},$$
(2.18)

where  $(x)_{0,\lambda} = 1$ ,  $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$ ,  $(n \ge 1)$ . Thus, from (2.18), we get the following theorem

**Theorem 2.2.** Let  $N \in \mathbb{N}$  and  $n \in \mathbb{N} \cup \{0\}$ , we have

$$x^{N}bel_{n,\lambda}(x) = \sum_{m=0}^{n} \sum_{k=1}^{N} \binom{n}{m} a_{k}(N)bel_{m+k,\lambda}(x)(k\lambda - N)_{n-m,\lambda}.$$

#### References

- D. V. Dolgy, L.-C. Jang, D. S. Kim, T. Kim, J.-J. Seo, Differential equations associated with higher-order Bernoulli numbers of the second kind revisited. J. Anal. Appl. 14 (2016), no. 2, 107-121. 11B68 (34A05)
- L.-C. Jang, T. Kim, Some identities of Bell polynomials. J. Comput. Anal. Appl. 20 (2016), no. 3, 584-589. 11B68
- 3. D. S. Kim, T. Kim, On degenerate Bell numbers and polynomials. Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM 111 (2017), no. 2, 435-446.
- D. S. Kim, T. Kim, Some identities of Bell polynomials. Sci. China Math. 58 (2015), no. 10, 2095-2104.
- 5. D. S. Kim, T. Kim, On degenerate Bell numbers and polynomials. Rev. R. Acad. Cienc. Exactas Fs. Nat. Ser. A Mat. RACSAM 111 (2017), no. 2, 435-446.
- D. S. Kim, T. Kim, G.-W. Jang, Some identities of partially degenerate Touchard polynomials arising from differential equations. Adv. Stud. Contemp. Math. (Kyungshang) 27 (2017), no. 2, 243-251
- 7. T. Kim, D. S. Kim, On  $\lambda$  -Bell polynomials associated with umbral calculus. Russ. J. Math. Phys. 24 (2017), no. 1, 69-78. (Reviewer: Renzo Sprugnoli) 05A40 (11B73)
- 8. T. Kim, D. S. Kim, D. V. Dolgy, On partially degenerate Bell numbers and polynomials. Proc. Jangjeon Math. Soc. 20 (2017), no. 3, 337-345. 11B73 (11B83)
- 9. T. Kim, D. V. Dolgy, D. S. Kim, J.-J. Seo, Differential equations for Changhee polynomials and their applications. J. Nonlinear Sci. Appl. 9 (2016), no. 5, 2857-2864. 34A05 (11B83 12H20)

DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL 139-701, REPUBLIC OF KOREA

E-mail address: gwjang@kw.ac.kr

Department of Mathematics, Kwangwoon University, Seoul 139-701, Republic of Korea

 $E ext{-}mail\ address: tkkim@kw.ac.kr}$